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APTITUDE TEST TOR ?IPLDH.—L BOLDERS TN ENGIN EERING
e § el & T aivei T

The tatal gme of collision and rpsgiuiion
of wo bodies, is called

(4 time of collision

(B) period of collision

(Cy perind of impact

T all the above

4 swing of length 90 em is fastenad 10
rwo points A end B al the samz level
&0 cm apars, A ring weighing 120 g is
clided on the siring. A horizontal force
P is applied to the ring such thai it is
in equilibrivin vertically below B. The
value of P iz

(4) 40 g By &g

Cy 80 g Dy 100 g
208 of 2 is equal 10

(&) 20 B 4

Ty 04 Dy O

A pllot flies a small plane in a vertcal
loop of radius r. At the top of its
trajectory he experiences weightlessness.
T the acceleration due to gravity is g
the spasd of (he plane &t tha wop of its
trajeciory would be

(A) Zero (8) Infinite

icy o D) 2

A cum of mopey & simple interest
amounts to Bs. 2240 in 2 years and {0
s, 2600 in 5 years. What is the principal
amount 7
(A) 1000
(Cy 2000

1500
2300

{B)
o)

The view wolbar will position the view
of the 3-D solid towards ihe
A} Fromt

(B) Left side

(Cy SE isomeiric

(D) Al of the above
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The circumderence of bwo circlas are in | 5

the ratic 4 | 3, what 15 the rato of the
areas of these sirelas 7
Ay 4.3 By lg . 25

(Cy ad ;o 123 oy 8 - 10

A dinz with a iapering width can be
easily cresied by using the

tool.
(AY circle By ellipse
(C)  line Dy polyline

In order to 32t drawing fimiis for a “C"
size architectural drawing the drafter
should sei the limits to

{A) 0, 0and 2 9

(B) 0, 0and 17, 11

(C) 0 0 and 18, 24

D) 0 0 and 34, 24

cannot sustain muwch voliage
fluciuations.
(A)  Sodium vapour lamp
{B) Mercury vapour lamp
(C) Incandescent lamp
(¥} Fluorescemi lamp

Permittivity of free space is equal to
(A} B.854 1079 Fim

(B) 884 = 10712 Fim

€y 9=10" Fim

L) 1 Fm

Which of the following statements
regarding single-phase induction motor
is correct?

(A) It requires only one winding

(By Tt can rotate in one dirsction only
(Cy It is self starting

(D1 Tt is not self swarting
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{4) =@ (B) e

(C) & (D) ifemms

"C* AT W T TENE w1 oram
HWT T H 5 O g 1 3w
T HE = wE e

(4 oodwze

By 0,017, 11
{Cy 0,027 18, 24
Dy 00 &7 34, 24

AT Fieoor TETETE TR BT
T T |

{A) difsam =97 #

B) @&l @mT f=5

(C) wrEre &

(D) wiwdie de

gﬁmmwﬂiﬁhﬁﬁ%wﬁ

(A) 5854« 107 i
(B) 584« 10012 Bim

(Cy 2= 10" Bim
(D) 1 Fim
EE WSS S A & g4 F feanad

Hedsm-memamat ?

(&) =8 6 vz gEem & oEsmEw
e E

(B) =% &% uw &w & 90 5o %

(C) =% = e
Dy or w=g el TE b
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W baild 1= connecied an senes with

A R0
a soom heater IF aow 100 W balb s
replaced By g 40 W bulb, the heaier

outout will

(A1 dacrease

B increase

{C) remam the same
{0 uniuskiied

In a delta neowork 2ach element has
value B The value of 2ach element in
equivalent star netwoark will be equal w

iA) Ria B) R/

) Rf2 My RS3

What i3 the name of the fuorsscemt
material  that  gives red colour
flgprazoence?

{A) Fine slicae

{B] Caleium silicaee

{C) Zing sulphide
D) Magnesinm  silicate

in single phase rotary converter the
number of shp rings will be

{a) Two (B) Thres

{C) Four D} Six

i the fault current is 2000 A, the relay
seiting is 50% and CT ratie is 400 ¢ 3,
ihen plug seiting muliiplier will be
(A) 104 By 15 A

iC) 25 A (D} 50 A

A peetangular wevegpide, in dominant
TE mode, has dimensions 10 om < 13
cm. The cur off frequency is

{4y 10 GH=z {B} 1 GHz

(C) 15 GHz D 25 GHz
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o CT o 400 - 5 %, & = #30
W
(4) 04
(Cy 25 A

154
oA

B}
(D)

ST A UHE H, e TE T,
femi ¥ 10 em + 15 cm. 4% A T
iAy 10 GHz {B1 1 GHz

(Cy 153 GHz Dy 25 GHz
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In & fash wpe ADC, employving 15
comparators resoluiion with 10 volis
referencs; is expected 1o be

(A1 0825 W

By D666 V

Cy 0328V

(D) Insufficient dasa

A noizzless 3 kHz channel can 1ramsmit
binary ai the raie

(A} 12000 bps  (B) 10000 Hps
(Cy o000 bpy (D 3000 bps

A program component  thar  allows
siruchuring of a program in an unsial
way 15 known as

{4) Correlztion

(B) Coroutine

Ty Diagonalization

O Queve

Before a disk drive can sccess any secior
record, 2 computer program has o provide
the record's disk address. What
information does this address specify?
{A) Track oumber

(B) Sector number

(Cy Surface wumber

(D) All of the above

EBCDIC can code up to how many
different characters?

(A) 8 B) 16

(Ch o4 (D) 256

The two main componenis of the CPU
are :

{A) Control unit and registers

(B} Control wnil and ALU

{C)  Registers and main memory

(O ALU and Dus

e

21
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T WL % ADC ¥, 10 o FEa i
= 15 gl RaErm g e i o
A ATl ¥

[A) 0625V _ (B)
iCy 0323 10

0666 W
At

e dkHz 9 m o T
T H AETE GUS T wEa K|

(A) 12000 Aps  (B) 10000 Aps
(C) &000 hps (D) 3000 Aps

el T e e e o O TR
@i #eaW B9 oW 5, 79 wmed B

==

(A) HEdEy B mEm
[y FEoE (D) e

o s TE B O e ¥
=T 95 T 0, Teg T T W
fomn w1 ¥ aifin | 9% v v e
Ty 7

(A) % den

(B) ot Hu

(Cy wmw e

(D) =wimg § 4 =
EBCDIC 5w fafe= ausimsi & = fan
mMEEd E 7

(A) & (B) 16

(C) &4 (D) 256

CPU & &1 Weg o
(A) PriE umE o e
(B) frdsm o afw ALy
(C} Twmex o T agh
D) ALD & 39
ET.0,
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A magneiic storage device om widch data
it stored on a cylindncal drom, subdivided
inte tracks i= lknown as

(Ay Punched card

(B) Magpetic disk

(C) Magnesic tape

(D) Drwm

When an inpui electrical signal A = 10100
is applisd t0 a MNOT gae, its output
signal is

(A) 01011

(E) 10001

(Cy 101m

(D0 00101

If Log, (1/8)=-3/2, then x is equal to

(4) B 4
(Cy 14 oy 10

The population of a country increased by
an average of 2% per year from 2000
to 2003, If the population of this country
was 20,00,000 on December 31, 2003,
then the population of this country on
January 1, 2000, io the nearest thousand
would have been

(A) 18,46,000

(B) 18,5Z,000

(C)  10,00,000

D) 15,00,000

A school committes consists of 2 teachers
and 4 students. The number of different
commitiges that can be formed from 5
terchers and 10 students is

{A) 1000 (B) 1300

{Cr 2100 (D) 200

6
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[l et B s | B T
TR i H e wer E, T owmes
(A) U= BE (B) Huwsrm o

iC) "Wefta s (D) ¥\

T UE T e e A= 10100
W wEm NOT %z ot Remr wen ¥, @

sEE gz feem we ¥
{AY 00 (BY 10001
{Cy 10101 oy 00101

i Log, (1f8)=~3/2, & x w9 a0y
i ®

Ay — @) 4

iC) 14 (10

2000 F 2003 7% OF 391 9 weEn 2%
wiy = o & ws mh ¥ 1 ol 5w 3w
1 TEE 31 fEEET 2003 W 20,00,000
70 1 T 2000 T 59 397 B weee
Tz vl o7 € T o -

{A) 1846000  (By 1852000

(C) 10,00,000 (D) 500,000

T i 3 4 R o 4 Prendl B
% 1 s fws e 10 fEnfdat § & o
W AT w5 e ¥ -
(A) 1000 (B} 1500

(Cy 2100 (D) 800
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The graphs of th:l two  equations
r= ae” +brre and .1'51'1.1'2 8+
such that @ and 4 have different signs
and that the quantities 4°—4gc and

87 =44C are both negative,
(A) imiersect @ two poinis
(B) imtersect at one point
i€y do oop intersect

(D) Mone of the above

If £{x) is an odd function, then [ (x)]
15

(A} an odd funciion

{B) an even fumction

() mesither odd nor even

(D) even and odd

The period of [sin(3x)| is
(A) 2 pi (B} 2 pifa
(C) pif3 D) 3 pi

Materials for rain-proof coats and tenis
owe their water-proof properties to
(A) suface tension

(B} viscosity

(C) specific gravity

(D) elasticity

Magnetism at the center of a bar magnet
is

(A) Mininnem

iB) Maximum

(€} Zero

D) Minimum or Maximuom

Light year is a unit of
(A) time

{B) distance

(C) light

(D} intensity of ligh

3l

32

34
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A AT _1':1?.1': rhyep  HTT
ye A« BeaC s, R g s A
% iEm (e ) % o v
b dge ST B -adC S R

(A) =7 TEEAT U R v R

{B) Ws Y ov v oE b

(C) wiess 76 &0

(D) =wms § & % =5

o f(x) ww fem e LA | /()] ¥
fA) TN wEE

(B} 9 %=

(Cy Towm o & &7 I8 o T8

(D) 59 a7 Tagy

|sin(3x)] =1 s ¥

(A) 2 pi (B)
Ty pif3 i)

2 pif3

3pi

AT Wi T T % A & e e
Ha WOV R ¥

{A) T= og (B} w=Fm

(C) Tl™ Tem (D) W

i 9= & & ¥ Fum geww de b

(A) e
(B)y arftreaam

€y o=
(D) =FwH e Hitean

Ty oY S AT
{A) =TAm By &fwr
C) wm D) et Wi A



http://aglasem.com/
http://admission.aglasem.com/

37

3%

[6]

U rmast corameniy wsed bizaching agsnt
{Ay  Aleohol

{B) Carbor dioxids

{Cy  Chlorine

(0 Sodivm chioride

The ocrians number of zero is assigned
W

{A)
{B)
'
D)

Zemethyl octanes
n-heplans
Izg-corane
3-methy! octane

The DPFT vaccine, & mivture of thres
vaccings i3 given for immunization of
three medical conditioms:

(A4} Dipiheria, Preumonia, Tuberculosis
(B} Diptheria, Pertusis, Tetanus

2y Diarrhoea, Perinsis, Tuberculpsis
{Dy Diptheria, Paeumonia, Tetanus

Refrgeration i3 a process in which:
(A} Baeteria are destroyed

(B} Growih of bacteria is reduced
{C) Bacteria become inaciive

(D) Cyloplastn of bacteria coniract

BOD is:

(A4} Biological oxygen deficit
(B) Biological oxygen demand
{03 Biosphere oxygen demand
(D) MNope of the above

36
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(A) TwEm
By =74 TsiEmes
i) EET

(D) fhe s

ST W A HOW EEE e @ ¥
(A) 2T aifwey

(B) pies

(C) vl

(D) 3-iEmEe e

A S @ e DPT Sl o= 9
Tatewn qTeita W wETEETe & fEe
Femm = &

(A) Tedifvan, wrifm, e

(B) Tt o= =9, o7y
(C) Ty, $T W, 790

(D) wEin, =Erm, ST

5T TS TN & mEd ¢

(A) EeEtr w oy fer wen %

(By F=difem & ufa wm = Ry ¥

(Cy =i Tima = &

(D) HeEie ® AEErA AP T
7

BOL § ,

{A) SEoNAEE WiEar SEEE

(B) SEmitamn strdrem feis

(C) =y i s

D) i & 4w

i T.O. >
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The number of clectrons present in H™
is
{A) Zero By Onz

Cr Two Dy Thees

The methed thar cannot be used for
removing permaneni hardness of water
15

{A) Adding sodium carbonate

{B) Distillation

(C)  Adding caustic soda

(D) Boiling

The gas used for artificial ripening of
green fruits

(A} Eihylens

{B} Ethans

(C) Carbon dioxide

(L) Aceiylene

The probability that an electronic device
produced by a company does not fimction
properdy is equal to 0.1 If 10 devices
are bought, then the probability, to the
nearest thousandth, that 7 devices fimetion

properly is
(A} 0.057 (B) 0478
() 0.001 o) o

Which type of reaction is occurring
when a metal undergoes comosion?
(A)  Onddation-reduction

{By MNewtrallzation

(C) Polymerization

(D) Saponification

41
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H % Fom sm o s & -
1A) 5/ B) o=
iy & {0y &5

=l wEY T fahg ¥ -
(A) HifEm wrive fmmm
(B} ST

(C) =% Tt B
(D) FEm

T OHE F W W B e v 5
T T -

(A) Tfmei

B) uiw

(C) =W sEeiiegms

(D) Uit

TE BEET S SO T I S T
S T 9% A ¥ 5m T
Hem 0.1 % T ¥ 13l 10 sy o
i, & Sawr, P vt o
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Composition of HSS tools can be:
(A} 18% W, 4% Cr, 1% v

(B) 4% W, 18% Cr, 1% v

() 1% W, 4% Cr, jg% v

D) 10% W 100, Cr, 12 v

Cast
{A)
(B)
i)
D)

alloys known as Siellires are
MNoa-ferrgus alloys

High carbon alloys

High tungsien allows

High chromium alloys

Use of cutting fluid during metal cutting
is desired 1

(4) Reduce the rigidity of chips

{B) Beduce the coefficient of fiction
between chip and 1ol

Reduce the temperature rise due to
Clifing

Reduce the cuiling velocity

()
D)

Cutting velocity is:

{A)  Velocity of the taol relative io the
work

Velocity of the chip relative to (he
toq]

Velocity of the chip relative o
workplace

Mot related 1o the effeciive cutting
spead

(B)

(D)

The mechanical comparator can be ysed
to measure the

(A) Esxternal diameier

(B} Imternal diameter

(C) Angular dimension
@) Al of these

®
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HSS 4l =1 s o EEGEE
£

(A1 18% W 2% Cr It v

18 4% W 189 Cro1% v

() 1% W, 4% O, 199, ¥

Dy 107 W 10% Cr, 102 v

Plﬁrr—:m%raﬁ#wﬁwgz_
(A) #@E g

(B) wiftmmd Rrepeny

(C) == & g

D) =1 wifem s

T T T wEw AW S ege )

T Ta T e &

(A) ﬁmaﬁmmﬁ%fm

(B) ﬁ'ﬁﬂﬂ'{ﬁm?%ﬁﬂ%uﬁwm
@ =e % i

() mﬁ%mwﬁgﬁq&
= &

D) == & 9= F fag

T 5

(4) = aite alm o7 & &

(B) sl wiie fag = 4 &

(C) =wrieaw are fag ooy &
Dy mwﬁﬂmﬁﬁmﬁﬁ%

mﬁﬁgﬁﬁﬂﬁmﬂsﬂ%mﬁim
P w1 v & -

(A) T =w (@) sl g
(C) =i B (D) Ty e
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In pneumatic comparaiors, the air used
is

{A)  Admospheric pressurs

(B) Above ammospheric pressure

[Ty Megative Pressurs

D) Below ammospheric pressupe

In Ultrasonic machining, the tool is
vibrated berwesn the frequencies of
(A) 1 and 3 kH=z

(B) 5 and 10 kH=

(Cy 10 and 15 EH=

(D) 15 kHz and higher

Electromotive force (emf) of voliage

sgurce is called as

{A) Terminal wvoltage when Ioad is
applied

(B} Internal voltage when no load is
applied

(C)  Product of miernal resistance and
load current

(D) Electric pressure provided to the
lead

The condition in Ohm's law is that

(A} The temperature should remain
constant

(B} The ratio of V/1 should be constant

(C)  The temperaiure should vary

(D} Current should be proportional to
voltage

A series circuit has B = 100, L = 0.01
Hand C = 10uF The Q-Factor is :
(A) 100 B 10

{Cy 115 Dy 10,

O,

Agl aSem Adni ssi on

TR qATH . WY W avem ve e
= &

(&) WgHsHm =

(B) =mgHeerg =T | Fuv

(C) s =g

(D) Frgessrg = § 59

e W H, & ST & A sl
wHE T ¥

Ay 1&fTs e

(By 5 &l 10 kHz

(Cy 10 37 15 kHz

@ 15 kHz & sifos

A Hid & - ' e b

(A) = W ® ey e wen &, w

(B) 7@ FE urt w1 omuE w6 fewm
W ¥, 79 ataits ez

(C)  ofier e Wi ST W &y ot ey

D) w7 = frar wrraTw frga o

& % Fraw & oy oo o Y R

(A) wI9HM T TS Wi

(B) V1w saw feaT S =g
(C) W afEaa B e

(D) =70 Srem 4 amules S5 i

aoflt ofiwer § R= 100, L =001 H e
C = 10pF. Q-55mim % :

(A) 100 (B) 10

(€ 113 D) 101
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I the speed of the DO gemerator 1s
increzsed, the generated emf will:

(A)  Increass

(B} Decreass

{Cy  FRemam cosstant

(D) Decreases and then increases

The rotor of the altemnator reguires:
(A) DC

®B) AC

(C) Pulsating DC

(D) Mone of the above

It is more difficult to walk on the beach

than on concrete road because

{A) =and s soff and concrete is hard

(B) friction berween sand and feat is
less than that between concrete and
faet

{C} fiiction between sand and feet is
mors than that beiween concrete
and feet

(D} sand is grainy but concrets s
smocth

If DC supply is given {o a ransformer,

it will ;

{A) Work

{B) Mot work

(C) Give lower voliage than the rated
voltage on secondary side

{D) Bum the winding

Synchropous motor generally has :
(A) Cylindrcal rotor

(B} Salient pole rotor

(C) Both {A) and (B) are correct
(DY) Mone of these
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aE DC T F W W W, 6T
o emf

(&) =& -

(B) @=m

(Cy e Tom

D) Fem AW 39 = wEm

R

1Ay DC

{B) AC

(C) == DO

(D) w0m 5 9 5 T4l

SR T W W E AT U e

it Sien B §, WO

(A) @ 9T ¥ ¥ & FEie wEe we
%

By T 4 8§ 9w = own FEE
i & B A F w59
¥

() m alm 5§ 4y w0 oo SR
#im T9 % e & T T o v

14
(D) Ta T 5§, Wi S T
Em ¥

o TTEET = DC g B i, &

o

(A} @M W

(B) @™ T mom

(C)y i oW H e S w1 e
e i

(D) Freer Fmw §

eEmiaE HeT # ume: e f
{A) FwTReT T

(B) & FIon g2 U=

(Cy (A) & (B) Tr g E
(D) T H HE

RT.0.
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Apsorption of ink by blowing paper
invobves

141 vsoosity of ink

iBy  copillary action phenomencn

{0y diffusion of ink through bloting

(0 siphon action

In electronics, the term 10 denoies
(A} Indusirial congrol

(B} Tniegrated circuit

(Cy latemal cambusticn

Dy bwegrated conduciance

The Fforbidden

semicondycior

iA) Lies just below the valenes band

{B} Is the smme as the valence band

{C) Lies just above the conduction
band

Dy Lies between valence band and
conduction band

eNergy  gap  im

A zener diode has a .

(A) High forward voltage rating

(B) Megative resistance

(C) High amplification

(D} Sharp breakdown voliage ar low
réverse voltage

Dynamometer type insmuments may be
used on:

(A} ac only

(B) de only

1Ch both ac and de

{I¥ nome of these

&1
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(A) TEE @ g

(B) Wi o wieEs

(C) i = = w0 FeE
D) OEET B

vt ¥ IC we gqhm mom b
{A) iehEEw Sz
(B) e wike
(C) Fevm e
(D)t dmesy

b el e ol

(A) Trmm it ¥ W T §

B dmEm s s T AT

(C) =maw ¥ 5 9 w7 W

(D) Harmme I3 o 9w 9= F 49
Y e

e wEE R ¥ e

(A) To oI Swmm AT

(B) =whiEs i

(C) = Toem

(D) T il dwem ov fen Se
HiwzaT

IEET TR % Il W seEn
T W weW ¥

(A) ik ac

(B &% dc

(Cy  ac a7 de 4R

D) 7 & =
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An advanizge of permenent magne
moving coll instrument is thar i s
(A} fres from friciion errors
(By  has high {torquetweight of moving
pars) rauo

(Cy  has low (tomuesweight of moving
naris) ragio

(D} Move of these

Which of the {ollowing materials is used
in the fabrication of swamping resistance
of a PMMC instrumen”
iy Copper =Y

{Cy  langanin (D)

Alumniniem
Tutigsien

The forces which meer at one poini and
have their lines of acdon in different
planes are called

(A4) coplanar non-congurrent forces
(B} mon-coplanar concurrent forces
() non-coplanar non-current forces
(DY imiersecting forces

The locus of the instantaneous centre of
a moving rigd body, is

(A) Swmaight line (By  Involute

(C)  Centroid (D) Spiral

A projectife is thrown at an angle a to

the horizonial with a velocity v. It will
have the maximum gentripetal
acceleraiion

{A) at the start

(B) at the top of the trajectory

(Cy as it strikes the ground

M elszwhere

£

a7

ik

L)
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PP (7 AT T W
AT A A

D) =9 4 wE T

iC)y

PAIMC TUHTY & 27 Wi & HiaTeE
S e I e e e

(A} w7 (B) i
iy e (D) #==

s T 97 T w0 e § S e e
] Ty well H 9 ¥, T w o ¥
(A) HEEEE @-ETE A

(B) H-TEwE S 5

(C)  w—Femmr S—4TE a6

D) TS 9

Wi wE s % A S W ey
(i) #
(A) TR 1@
) ==

(B) Wiamaa
(D) =

wE TemEE v 3T & oA &fm ar g
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= T

(A) &m #

(B) Wiy % §id 9v

(C) =% T T W ST F g
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Dirinking of conigminated waist can
CHlEe |

Al Cholera iB)
(C) Measles (EE}]

Tuphoid

Hepaiitis A

Crap rotaiion 15 used for

{A) Tncreasing nitrogen comeent of soil
(B) Checking soil erosion

{C)  Community development

(D) Enhancing soil fertility

Five different books (A, B, C, D and E)
are to be amanged on a shelf. Books C
and I are to be arranged first and second
starting from the right of the shelf The
number of different orders in which
books A, B and E may be arranged is
Ay 5l |y 3l

© 2 @)

31 * 21

To attain the synchronus orbit, the launch
of & satellite is done from a place
(A) On egquator

(B} on 30° latide

(C) on 45° latiude

(D} on the poles

If the radius of the earch is 600 km, the
height of & mountain above sea level ai
the top of which a beat seconds pendulum
at sea level, looses 27 seconds a day, is

(A) 500 metres
(B) 1000 meires
(Cy 1500 metres
(D 2000 metres
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GEEGRE T el e e

(A T By faussy
C) (D ETEEEE A

YT AR (0 TS W ST T
T omE Y

(4) T H TEEEE & aes wee oo
(B) &1 @iEd W7 Prdwe e & T
(C) wpEm fam 5 fm

(D) o=@ @ T weW &

79 9 TEE (AL B, C. D R E) s
T G TS B 1 C 2 D g o
Te T AT OFF & W A g oy
¥ Z0 wE ¥ 1A, B oY E uEsl w0
T T R w0 T W W T ¢
T e §

(&) 51 (B) 3

cy 2 (D) 312

AT WA W BT o WY, S @

HAT TE T A fewn ww &
(A) T TT feE e
(BY 30° &Eis W REE R
(C)  45° awgmar o¢ T s
(D) s ot fegm ==

s TEE B B 00 e ¥, wuE ww
Y ST UAT B 9% SUR (N g uw
WE @ I 42 5% W ey F 27
e im ww ¥,

{A) 500 4dRT  (B) 1000 H@%
(C) 1500 dilzx (D) 2000 g7
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